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Pro.1

TIT111717711771771177777117117711117771111/77117
void syokika(),yamaran(),kubari(),padown(),cadown();

syokika();

1
2
3
4 yamaran();

5 kubari(); // :innumb(),insuit(),pmaxsan(),cmaxsan()
6 padown();cadown(); // 1151
7

8

9

10/* sprintf(ccfirst," = %d = %d",csuit[1],cnumb[1]);*/
11 printf(ccfirst,” "),



12 m_ed2.SetWindowText(ccfirst);

13 sprint(mmaaxx,” =U%d",pnumb[0]);
14 m_ed1.SetWindowText(mmaaxx);

15 sprintf(cmmaaxx," = 27",

16 m_ed3.SetWindowText(cmmaaxx);

IIT71177177117777717777771717777171177717/177711/
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Pro.1
syokika
Pro.2

20 10
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void syokika(){

int co01;

for(co01 = 0;co01 < yamamax;++co01){
yama[co01] = 0;

}

for(co01 = 0;co01 < havemax;++co0L1){
pcard[co01] = 0;
ccard[co01] = 0;
psuit[co01] = 0;
csuit[co01] = 0;
pnumb[co01] = 0;
chumb[co01] = 0;

IIT711777771177777177777717177771711777177/177711/
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Pro.2

yamamax

havemax



Pro.1 Pro.3

yamaran Pro.3

yamamax 20

0 che01

IIT71177177117777717777771717777171177717/177711/

void yamaran(int ranmax,int ranmin){
int rand();
int cheOl = 0;
int co01, co02,co03 = 1;

srand((unsigned int)time(0));

rand();
for(co0l1 = 1;co01 < yamamax - 1;){
ran0l = ranmin +(int) (rand() * (ranmax- ranmin + 1) / (1 + RAND_MAX));
che0l = 0;
for(co02 = 1;yama[co02] != 0;++co02){
if(ran01 == yama[co02]){
che01 = 10;break;

}
if(che01 == 0){
yama[co03] = ran01;++co03;++co01

IIT711777771177777177777717177771711777177/177711/
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kubari Pro.4

yamano pcardno
ccardno yamano

pcardno

ccardno

IIT71177177117777717777771717777171177717/177711/

void kubari(){

void insuit(),innumb(),pmaxsan(),cmaxsan();

pcard[1] = yama[1];
ccard[1] = yama[2];
pcard[2] = yama[3];
ccard[2] = yama[4];

yamano = 5; //
pcardno = 3;ccardno = 3; //
psuit[0] = 2;csuit[0] = 2; //

insuit();innumb();

pmaxsan(),cmaxsan();

II771177777117777711777771717777111777117/177711/

~—--Pro.4----

kubari insuit innumb pmaxsan cmaxsan

insuit Pro.5 innumb Pro.6

Pro.5 psuit csuit Pro.6
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pnumb  cnumb

IIT71177177117777717777771717777171177717/177711/

void insuit(){
int co01; //1: 2 3 0:

for(co01 = 1;pcard[co01] != 0;++co01){
psuit[co01] = pcard[co01] % 4;

}

for(co01 = 1;ccard[co01] != 0;++co01){
csuit[co01] = ccard[co01] % 4;

II771177777117777717777771717777171177717/177711/
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void innumb(){
int co01;

for(co01 = 1;pcard[co01] != 0;++co01){

pnumb[co01] = ((pcard[co01] - 1) / 4) + 1,
}
for(co01 = 1;ccard[co01] != 0;++co01){

cnumb[co01] = ((ccard[co01] - 1) / 4) + 1,

II7711771771177777177777717177771711777171177711/
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kubari pmaxsan Pro.7 cmaxsan Pro.8
pnumb cnumb 1
pnumb 1 pnumb[0]
pnumb[1] pnumb[2]

IIT71177177117777717777771717777171177717/177711/

void pmaxsan(){
int co01;

pnumb[0] = 0;
for(co01 = 1;pnumb[co01] != 0;++co01){
if((pnumb[co01] >= 1) && (pnumb[co01] <= 14)){
if(pnumb[co01] == 1){
pnumb[0] += 11;}
if((pnumb[co01] >= 2) && (pnumb[co01] <= 10)){
pnumb[0] += pnumb[co01];}
if((pnumb[co01] >= 11) && (pnumb[co01] <= 13)){
pnumb[0] += 10;}
if(pnumb[co01] == 14){
pnumb[0] += 1}

elsef
AfxMessageBox(*'!! " pmaxsan "),

IIT71177777117777717777771717777171177717/177711/

~==-Pro.7----

IIT711777771177777177777717177771711777177/177711/

void cmaxsan(){
int co01;
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chumb[0] = 0;
for(co01 = 1;,cnumb[co01] != 0;++co01){
if((cnumb[co01] >= 1) && (cnumb[co01] <= 14)){
if(cnumb[co01] == 1){
chumb[0] += 11;}
if((cnumb[co01] >= 2) && (cnumb[co01] <= 10)){
cnumb[0] += cnumb[co01];}
if((cnumb[co01] >= 11) && (cnumb[co01] <= 13)){
chumb[0] += 10;}
if(cnumb[co01] == 14){
cnumb[0] += 1;}

elsef

AfxMessageBox(*'!! " cmaxsan "),

II77117777711777771777777171777711177717/177711/

~---Pro.8----

Pro.1 padown Pro.9 cadown Pro.10

padown

pmaxsan

cadown

IIT71177777117777717777771717777171177717/177711/

void padown(){

void pmaxsan();
int co01;

14



for(co01 = 1;pnumb[0] > 21;++co01){
if(pnumb[co01] == 0){
break;}
if(pnumb[co01] == 1){
pnumb[co01] = 14}

pmaxsan();

IIT71177177117777717777771717777171177717/177711/
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void cadown(){
void cmaxsan();
int co01;

for(co01 = 1;,cnumb[0] > 21;++co01){
if(cnumb[co01] == 0){
break;}
if(cnumb[co01] == 1){
cnumb[co01] = 14;}

cmaxsan();

JI1IIIITIIIIIIIIIII LTI 111111 111111111111111117
~==-Pr0.10----

Invalidate

Pro.11

15



IIT71177177117777717777771717777171177717/177711/

1/* sprintf(ccfirst,” = d = %d",csuit[1],cnumb[1]);*/
2 printf(ccfirst,” ),

3 m_ed2.SetWindowText(ccfirst);

4 sprint(mmaaxx,” =U%d",pnumb[0]);

5 m_ed1.SetWindowText(mmaaxx);

6 sprintf(cmmaaxx," =27,

7 m_ed3.SetWindowText(cmmaaxx);

Y
~—--Pro.11----
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Invalidate
Pro.12

m_landl

IDB_LAND1

XY
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CDC* pDC=m_land1.GetDC();

CDC myDC;

CBitmap myBMP;
myBMP.LoadBitmap(IDB_LANDY);
myDC.CreateCompatibleDC(pDC);
myDC.SelectObject(myBMP);
pDC->BitBIt(0,0,499,398,&myDC,0,0,SRCCOPY);

//

CBitmap myPSUITO1,;

int iti0l = 1,

if(psuit[itio1] == 1){
myPSUITO01.LoadBitmap(IDB_SSUITS);myDC.SelectObject(myPSUITOL);
pDC->BitBIt(22 + (55 * (iti01 - 1)),205,48,68,&myDC,0,0, SRCCOPY);}

//

CBitmap myPNUMBO1,

if(pnumb[iti0l] == 1){
myPNUMBO1.LoadBitmap(IDB_SNUMBA);myDC.SelectObject(myPNUMBO01);
pDC->BitBIt(22 + (55 * (iti01 - 1)),228,48,23,&myDC,0,0,SRCCOPY);}

II771177777117777711777771717777111777117/177711/
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if(cnumb[0] > pnumb|[0]){cisi = 0;}

if(cnumb[0] < pnumb|[0]){cisi = 1;}
if(cnumb[0] == pnumb[0]){

if(sa == 1){ /72 !

if(ckettei[ccardno - 3] <= 2){cisi = L}}}
if(sa == 2){

if(ckettei[ccardno - 3] <= 3){cisi = L}}}
if(sa == 3){

if(ckettei[ccardno - 3] <= 5){cisi = L}}}
if(sa == 4){

if(ckettei[ccardno - 3] <= 10){cisi = 1;}}
if(sa == 5){

if(ckettei[ccardno - 3] <= 20){cisi = 1;}}
if(sa == 6){

if(ckettei[ccardno - 3] <= 50){cisi = 1;}}
if(sa == 7){

if(ckettei[ccardno - 3] <= 70){cisi = 1;}}
if(sa == 8){

if(ckettei[ccardno - 3] <= 85){cisi = 1;}}
if(sa == 9)

19



if(ckettei[ccardno - 3] <= 93){cisi = 1;}}
if(sa == 10){
if(ckettei[ccardno - 3] <= 98){cisi = 1;}}
if(sa >= 11){

cisi = 1}

L111171717717717777777777777777777777/77/777777/777
----Pro.13----
Pro.14
L111171717717717777777777777777777777/77/777777/77/7

if(pnumb[0] > cnumb[0]){

AfxMessageBox (" ")}
if(pnumb[0] == cnumb[0]){

AfxMessageBox (" ")}
if(pnumb[0] < cnumb[0]){

AfxMessageBox (" ")}

II77117777711777771777777171777711177717/177711/
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// BJverl100DIg.cpp :
//

#include "stdafx.h"
#include "BJver100.h"
#include "BJver100Dlg.h"

#ifdef _DEBUG

#define new DEBUG_NEW

#undef THIS_FILE

static char THIS_FILE[] = __ FILE__;
#endif

int ran01,yamano,pcardno,ccardno,cisi;

char ccfirst[50],mmaaxx[50],cmmaaxx[50];
const int yamamax = 20,havemax = 10;

Iint yama[yamamax];

int pcard[havemax];

int ccard[havemax];

int psuit[havemax];

int csuit[havemax];

int pnumb[havemax]; //][0]: [1]
int cnumb[havemax]; //]0]: [1]
int ckettei[havemax]; //

=

havemax] :
havemax] :

111177771771777777717777177177771771777777777777777777777/77177777/771/777//777/
// CAboutDIg

class CAboutDlg : public CDialog

{
public:
CAboutDIg();

//
//{{AFX_DATA(CAboutDIg)
enum { TDD = IDD_ABOUTBOX };
//Y}AFX_DATA

// ClassWizard

//{{AFX_VIRTUAL(CAboutDIg)

protected:

virtual void DoDataExchange(CDataExchange* pDX);
//}}AFX_VIRTUAL

//

protected:
//{{AFX_MSG(CAboutDIg)
//}}AFX_MSG
DECLARE_MESSAGE_MAP()

}s
CAboutDIg: :CAboutDIg() : CDialog(CAboutDIg::1DD)

//7{{AFX_DATA_INIT(CAboutDIg)
//YYAFX_DATAINIT

¥

// DDX/DDV



void CAboutDIlg: :DoDataExchange(CDataExchange* pDX)

CDialog: :DoDataExchange(pDX);
//{{AFX_DATA_MAP(CAboutDIg)
//}}AFX_DATA_MAP

BEGIN_MESSAGE_MAP(CAboutDlg, CDialog)
/7{{AFX_MSG_MAP(CAboutDIg)
//

//Y}AFX_MSG_MAP
END_MESSAGE_MAP()

1111777777717777777177777771777777717777777777777777777777717/777/7/771/7/77//7777
// CBJverl100Dlg

CBJver100DIg: :CBJver100DIg(CWnd* pParent /*=NULL*/)
- CDiralog(CBJver100Dlg::IDD, pParent)
{

/7{{AFX_ DATA _INIT(CBJver100DIg)
// ClassWizard
//}}AFX DATA_INIT
// - Loadlcon Win32 Destroylcon
m_hlcon = AfxGetApp()->Loadlcon(IDR_MAINFRAME);

}

void CBJverl100DIlg: :DoDataExchange(CDataExchange* pDX)
{
CDialog: :DoDataExchange(pDX);
//{{AFX_DATA_MAP(CBJver100DIg)
DDX_Control(pDX, IDC_EDIT3, m_ed3);
DDX_Control (pDX, IDC EDIT2, m_ed2);
DDX_Control (pDX, IDC_EDIT1, m_edl);
DDX_Control (pDX, IDC_LAND1, m_landl);
//}}AFX_DATA_MAP

¥

BEGIN_MESSAGE_MAP(CBJver100Dlg, CDialog)
/7{{AFX_MSG_MAP(CBJver100DIg)
ON_WM_SYSCOMMAND()

ON_WM PAINTQ)

ON_WM_QUERYDRAGICON(Q)
ON_BN_CLICKED(IDC_BHIT, OnBhit)
ON_BN_CLICKED(IDC_ BSTAND OnBstand)
//}}AFX_MSG_MAP

END_MESSAGE_MAP()

I11717777171717777777777177777777777777177777777777777777777777777777/7//7/7777
// CBJverl00DIg

BOOL CBJverl100DIg::OnInitDialog()
CDialog::OnInitDialog();
/7" -
// 1DM_ABOUTBOX

ASSERT((IDM_ABOUTBOX & OxFFFQ) == IDM_ABOUTBOX);
ASSERT(IDM_ABOUTBOX < 0xF000);



}

CMenu* pSysMenu = GetSystemMenu(FALSE);
it (pSysMenu = NULL)
{

CString strAboutMenu;
strAboutMenu.LoadString(IDS_ABOUTBOX);
It (IstrAboutMenu. IsEmpty())

pSysMenu->AppendMenu(MF_SEPARATOR) ;
pSysMenu->AppendMenu(MF_STRING, IDM_ABOUTBOX, strAboutMenu);

}

//

//

Setlcon(m_hlcon, TRUE); //

Setlcon(m_hlcon, FALSE); //

// TODO:

void syokika(),yamaran(),kubari(),padown(),cadown();
syokika();

yamaran();

kubari(); // innumb (), insuit(),pmaxsan(),cmaxsan()
padown() ;cadown(); // 11-1
//

sprintf(ccfirst,” = %d = %d",csuit[1],cnumb[1]);*/ //
sprintf(ccfirst,” "); //
m_ed2.SetWindowText(ccfirst); //
sprintf(mmaaxx," = %d",pnumb[0]); //c
m_edl.SetWindowText(mmaaxx); //c
sprintf(cmmaaxx, " = ?27"); //c
m_ed3.SetWindowText(cmmaaxx) ; //c
//:::::::::::::::::::::::::::::::::::::::::::

return TRUE; // TRUE

void CBJver100DIg: :OnSysCommand(UINT nID, LPARAM IParam)

if ((n1D & OXFFFO) == IDM_ABOUTBOX)

CAboutDlg dlgAbout;
dlgAbout.DoModal () ;

¥

else

{



¥

//
//
//

CDialog: :0OnSysCommand(nID, IParam);

MFC document/view

void CBJver100Dlg::OnPaint()

Ef (Islconic())

CPaintDC dc(this); //
SendMessage (WM_I1CONERASEBKGND, (WPARAM) dc.GetSafeHdc(), 0);

//
int cxlcon = GetSystemMetrics(SM_CXICON);
int cylcon = GetSystemMetrics(SM_CYICON);

CRect rect;

GetClientRect(&rect);

int x = (rect.Width() - cxlcon + 1) / 2;
int y = (rect.Height() - cylcon + 1) / 2;

//
dc.Drawlcon(x, y, m_hlcon);

else

{

CDialog::0nPaint();

CDC* pDC=m_landl.GetDC();

CDC myDC;
CBitmap myBMP;

myBMP .LoadBitmap(IDB_LAND1);
myDC.CreateCompatibleDC(pDC);

myDC.SelectObject(myBMP) ;
pDC->BitBIt(0,0,499,398,&myDC,0,0,SRCCOPY);

CBitmap myPSUITO1;
int iti0l = 1;
if(psuit[itiol] =

myPSUITO1. LoadBltmap(IDB SSUITS) ;myDC.SelectObject(myPSUITO1);

pDC- >B|tBIt(22 + (55 * (i1ti0l - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psurt[itiol] =

myPSUITOL. LoadBltmap(IDB SSUITH) ;myDC.SelectObject(myPSUITO1);

pDC- >B|tBIt(22 + (b5 * (i1ti0l - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[itiol] =

myPSUITO1. LoadBltmap(IDB SSUITD) ;myDC. SelectObJect(myPSUIT01)

pDC- >B|tBIt(22 + (65 * (iti0l - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[itiOl] =

myPSUITOL. LoadBltmap(IDB SSUITC) ;myDC.SelectObject(myPSUITO1);

pDC->BitBIt(22 + (65 * (itiOl - 1)),205,48,68,&myDC,0,0,SRCCOPY);}



iIf(psuit[i1tiOl] "= 1 && psuit[i1tiOl] '= 2 && psuit[itiOl] '= 3 && psul
t[itiol] !'= 0){

myPSUITO1.LoadBitmap(1DB_RCARD) ;myDC.SelectObject(myPSUITO01);

pDC->BitBIt(22 + (65 * (itiOl - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
//
CBitmap myPNUMBO1;
if(pnumb[1ti0l] ==

myPNUMBO1.LoadBitmap(1DB_SNUMBA) ;myDC.SelectObject(myPNUMBO1);

pDC—>BitBIt(22 + (55 * (1ti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] =

myPNUMBO1 . LoadBltmap(IDB SNUMB2) ;myDC.SelectObject(myPNUMBO1);

pDC- >B|tBIt(22 + (55 * (i1ti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] = {

myPNUMBO1. LoadBltmap(IDB SNUMB3) ; myDC. SelectOb;ect(myPNUMBOl)

pDC- >B|tBIt(22 + (65 * (iti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[iti0l] =

myPNUMBO1 . LoadBltmap(IDB SNUMB4) ;myDC.SelectObject(myPNUMBO1);

pDC- >B|tBIt(22 + (55 * (i1ti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] =

myPNUMBO1. LoadBltmap(IDB SNUMB5) ;myDC. SelectOb1ect(myPNUMBOl)

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
iIf(pnumb[1ti01] ==

myPNUMBO1.LoadBitmap(1DB_SNUMB6) ;myDC.SelectObject(myPNUMBO1);

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] ==

myPNUMBO1.LoadBitmap(I1DB_SNUMB7) ;myDC.SelectObject(myPNUMBO1);

pDC->BitBIt(22 + (65 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
iIf(pnumb[1ti01] ==

myPNUMBO1.LoadBitmap(1DB_SNUMB8) ;myDC.SelectObject(myPNUMBO1);

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] ==

myPNUMBO1.LoadBitmap(1DB_SNUMB9) ;myDC.SelectObject(myPNUMBO1);

pDC—>BitBIt(22 + (55 * (itiol - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] =

myPNUMBO1. LoadBltmap(IDB SNUMB10) ;myDC.SelectObject(myPNUMBO1);

pDC- >B|tBIt(22 + (55 * (1tiol - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] =

myPNUMBO1. LoadBltmap(IDB SNUMBJ) ; myDC. SelectOb;ect(myPNUMBOl)

pDC- >B|tBIt(22 + (55 * (itio0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[iti0l] =

myPNUMBO1 . LoadBltmap(IDB SNUMBQ) ;myDC.SelectObject(myPNUMBO1);

pDC- >B|tBIt(22 + (55 * (1tiol - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] =

myPNUMBO1. LoadBltmap(IDB SNUMBK) ;myDC. SelectOb1ect(myPNUMBOl)

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}

//
CBitmap myCSUITO1;
itiol = 1;

myCSUITO1.LoadBitmap(1DB_RCARD) ;myDC.SelectObject(myCSUITO1);
pDC->BitBIt(90 + (65 * (itiOl - 1)),55,48,68,&myDC,0,0,SRCCOPY);
//
CBitmap myPSUITO2;
1tiol = 2;
if(psuit[itiol] = {
myPSUITO2. LoadBltmap(IDB SSUITS) ;myDC. SelectObJect(myPSUITOZ)
pDC- >B|tBIt(22 + (65 * (iti0l - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[itiOl] =
myPSUITOZ2. LoadBltmap(IDB SSUITH) ;myDC.SelectObject(myPSUITO02);
pDC->BitBIt(22 + (65 * (itiOl - 1)),205,48,68,&myDC,0,0,SRCCOPY);}



if(psuit[itiOl] ==

myPSUITO2.LoadBitmap(I1DB_SSUITD) ;myDC.SelectObject(myPSUIT02);

pDC->BitBIt(22 + (65 * (itiOl - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[itiOl] ==

myPSUITO2.LoadBitmap(I1DB_SSUITC) ;myDC.SelectObject(myPSUIT02);

pDC->BitBIt(22 + (55 * (itiOl - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
iIf(psuit[itiOl] '= 1 && psuit[i1tiOl] = 2 && psuit[itiOl] '= 3 && psul

t[itiol] =0

myPSUITO2.LoadBitmap(1DB_RCARD) ;myDC.SelectObject(myPSUITO02);

pDC->BitBIt(22 + (65 * (iti0l - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
//
CBitmap myPNUMBOZ;
if(pnumb[1ti0l] = {

myPNUMBO2 . LoadBltmap(IDB SNUMBA) ; myDC. SelectObJect(myPNUMBOZ)

pDC- >B|tBIt(22 + (65 * (iti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[iti0l] =

myPNUMBO2 . LoadBltmap(IDB SNUMB2) ;myDC.SelectObject(myPNUMBO02);

pDC- >B|tBIt(22 + (55 * (i1ti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] =

myPNUMBO2. LoadBltmap(IDB SNUMB3) ;myDC. SelectObJect(myPNUMBOZ)

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
iIf(pnumb[1ti01] ==

myPNUMBO2 . LoadBitmap(1DB_SNUMB4) ;myDC.SelectObject(myPNUMB02);

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] ==

myPNUMBO2 . LoadBitmap(1DB_SNUMB5) ;myDC.SelectObject(myPNUMB02) ;

pDC->BitBIt(22 + (65 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
iIf(pnumb[1ti01] ==

myPNUMBO2 . LoadBitmap(1DB_SNUMB6) ;myDC.SelectObject(myPNUMB02);

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] ==

myPNUMBO2 . LoadBitmap(1DB_SNUMB7) ;myDC.SelectObject(myPNUMB02);

pDC—>BitBIt(22 + (55 * (1ti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] == 8){

myPNUMBO2. LoadBltmap(IDB SNUMB8) ;myDC.SelectObject(myPNUMB02) ;

pDC- >B|tBIt(22 + (55 * (i1ti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] = {

myPNUMBO2. LoadBltmap(IDB SNUMB9) ; myDC. SelectObJect(myPNUMBOZ)

pDC- >B|tBIt(22 + (55 * (itio0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[iti0l] =

myPNUMBO2 . LoadBltmap(IDB SNUMB10) ;myDC.SelectObject(myPNUMB02) ;

pDC- >B|tBIt(22 + (55 * (1tiol - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] =

myPNUMBO2. LoadBltmap(IDB SNUMBJ) ;myDC. SelectObJect(myPNUMBOZ)

pDC- >B|tBIt(22 + (55 * (iti0l - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti0l] =

myPNUMBOZ.LoadBitmap(IDB_SNUMBQ);myDC.SelectObject(myPNUMBOZ);

pDC->BitBIt(22 + (55 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[1ti01] ==

myPNUMBO2 . LoadBitmap(1DB_SNUMBK) ;myDC.SelectObject(myPNUMB02);

pDC->BitBIt(22 + (65 * (itiOl - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
//
CBitmap myCSUITOZ2;
1tiol = 2;
if(csuit[i1tiOl] ==

myCSUITO2.LoadBitmap(IDB_SSUITS) ;myDC.SelectObject(myCSUIT02);

pDC->BitBIt(90 + (65 * (itiOl - 1)),55,48,68,&myDC,0,0,SRCCOPY);}
if(csuit[itiOl] ==

myCSUITO2.LoadBitmap(I1DB_SSUITH) ;myDC.SelectObject(myCSUITO02);



pDC—>BitBIt(90 + (55 * (iti0l - 1)),55,48,68,&myDC,0,0,SRCCOPY);}
if(csuit[itiOl] =

myCSUITOZ2. LoadBltmap(IDB SSUITD) ;myDC.SelectObject(myCSUITO02);

pDC->BitBIt(90 + (65 * (itiOl - 1)),55,48,68,&myDC,0,0,SRCCOPY);}
if(csuit[itiOl] ==

myCSUITO2.LoadBitmap(IDB_SSUITC) ;myDC.SelectObject(myCSUIT02);

pDC->BitBIt(90 + (55 * (itiOl - 1)),55,48,68,&myDC,0,0,SRCCOPY);}
if(csuit[itiOl] '= 1 && csuit[i1tiOl] = 2 && csuit[itiOl] '= 3 && csui

t[itiol] 1= 0){

¥

//
//

¥

myCSUITO2.LoadBitmap(1DB_RCARD) ;myDC.SelectObject(myCSUITO02);

pDC->BitBIt(90 + (55 * (itiOl - 1)),55,48,68,&myDC,0,0,SRCCOPY);}
//
CBitmap myCNUMBOZ;
if(cnumb[1ti01] ==

myCNUMBO2 . LoadBitmap(1DB_SNUMBA) ;myDC.SelectObject(myCNUMB02);

pDC—>BitBIt(90 + (65 * (iti0l - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] =

myCNUMBO2 . LoadBltmap(IDB SNUMB2) ;myDC.SelectObject(myCNUMBO2);

pDC- >B|tBIt(90 + (55 * (itiol - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] == 3){

myCNUMBO2. LoadBltmap(IDB SNUMB3) ;myDC.SelectObject(myCNUMBO2) ;

pDC- >B|tBIt(9O + (b5 * (iti0l - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[iti0l] =

myCNUMBO2. LoadBltmap(IDB SNUMB4) ;myDC.SelectObject(myCNUMB02) ;

pDC- >B|tBIt(90 + (55 * (1ti0l - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] =

myCNUMBO2 . LoadBltmap(IDB SNUMB5) ;myDC. SelectObject(myCNUMBO2) ;

pDC->BitBIt(90 + (65 * (itiOl - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] ==

myCNUMBO2 . LoadBitmap(1DB_SNUMB6) ;myDC.SelectObject(myCNUMB02);

pDC->BitBIt(90 + (55 * (itioOl - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] ==

myCNUMBO2 . LoadBitmap(1DB_SNUMB7) ;myDC.SelectObject(myCNUMBO2);

pDC->BitBIt(90 + (55 * (itiOl - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] ==

myCNUMBO2 . LoadBitmap(1DB_SNUMB8) ;myDC.SelectObject(myCNUMB02) ;

pDC->BitBIt(90 + (55 * (itiOl - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] ==

myCNUMBO2 . LoadBitmap(1DB_SNUMB9) ;myDC.SelectObject(myCNUMB02);

pDC—>BitBIt(90 + (55 * (iti0l - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] =

myCNUMBO2. LoadBltmap(IDB SNUMB10) ;myDC.SelectObject(myCNUMB02) ;

pDC->BitBIt(90 + (65 * (itiOl - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] == 11){

myCNUMBO2 . LoadBitmap(1DB_SNUMBJ) ;myDC.SelectObject(myCNUMB02);

pDC- >B|tBIt(9O + (55 * (iti0l - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[iti0l] =

myCNUMBO2. LoadBltmap(IDB SNUMBQ) ;myDC. SelectObject(myCNUMB02) ;

pDC- >B|tBIt(90 + (55 * (itiol - 1)),78,48,23,&myDC,0,0,SRCCOPY);}
if(cnumb[1ti01] =

myCNUMBO2 . LoadBltmap(IDB SNUMBK) ;myDC. SelectObject(myCNUMBO02) ;

pDC->BitBIt(90 + (65 * (itiOl - 1)),78,48,23,&myDC,0,0,SRCCOPY);}

HCURSOR CBJver100DIg: :OnQueryDraglcon()



return (HCURSOR) m_hlcon;
}

void Syokika(){ J/===========================
int co0l;
for(co0l = 0;co01 < yamamax;++co01){
yamaf[co01] = 0;

for(co01 = 0;co0
pcard[co01]
ccard[co01]
psuit[co01]
csuit[co01]
pnumb[co01]
cnumb[co01]
ckettei[co01

L I I N )

}
}

void yamaran(){ J/===========================
int rand();
int ranmax = 52,ranmin = 1;
int che0l = 0;
int co0l,co02,co003 = 1;

srand((unsigned int)time(0));

rand();
for(co0l1l = 1;co01 < yamamax - 1;){
ran0l = ranmin + (int)(rand() * (ranmax - ranmin + 1) / (1 + RAND_MAX)

che0l = 0;
for(co02 = 1;yamaf[co02] !'= 0;++co02){
1f(ran01 == yama[co02]){
che0l1 = 10;break;
}

if(che0l == 0){
yama[co03] = ran01;++co003;++co01;

}
}

void kubari(){ //====—=======—=—=——=—=—-=----=—====
void insuit(), innumb(),pmaxsan(),cmaxsan();

pcard[1] = yama[l];

ccard[1] = yama[2];

pcard[2] = yama[3];

ccard[2] = yama[4];

yamano = 5; //

pcardno = 3;ccardno = 3; //
psult[0] = 2;csuit[0] = 2; //

insuit();innumb();
pmaxsan() ;cmaxsan();



VOid inSUit(){ //:::::::::::::::::::::::::::
int co01; //1: 2: 3: 0:

for(co01 = 1;pcard[co01] '= 0;++co01){
psuit[co0l] = pcard[co01] % 4;

for(co0l1 = 1;ccard[co01] !'= 0;++co01){
csuit[co01] = ccard[co01] % 4;

¥

VOid innumb(){ //:::::::::::::::::::::::::::
int co01;

for(co0l1 = 1;pcard[co01] !'= 0;++co01){
pnumb[co01] = ((pcard[co01] - 1) /7 4) + 1;

for(co01 = 1;ccard[co01] !'= 0;++co01){
cnumb[co01] = ((ccard[co0l1l] - 1) /7 4) + 1;

¥

VOid pmaxsan(){ //:::::::::::::::::::::::::::
int co0l;

pnumb[0] = O;
for(co01 = 1;pnumb[co01] '= 0;++co01){
1T((pnumb[co01] >= 1) && (pnumb[co01] <= 14)){
if(pnumb[co01] ==
pnumb[0] += 11;}
iT((pnumb[co01] >= 2) && (pnumb[co01] <= 10)){
pnumb[0] += pnumb[co01];}
if((pnumb[co01] >= 11) && (pnumb[co01] <= 13)){
pnumb[0] += 10;}
1f(pnumb[co01] == 14){
pnumb[0] += 1;}

else{
AfxMessageBox(*'!! ] pmaxsan ");
}

¥
¥

VOid Cmaxsan(){ //:::::::::::::::::::::::::::
int co01;

cnumb[0] = 0;
for(co0l1 = 1;cnumb[co01] !'= 0;++co01){
iIf((cnumb[co01] >= 1) && (cnumb[co0l1] <= 14)){
if(cnumb[co01] == 1){
cnumb[0] += 11;}
i1f((cnumb[co01] >= 2) && (cnumb[co01l] <= 10)){
cnumb[0] += cnumb[co01];}
if((cnumb[co01] >= 11) && (cnumb[co01] <= 13)){
cnumb[0] += 10;}
if(cnumb[co01] == 14){
cnumb[0] += 1;}

else{



AfxMessageBox(*'!! ]| cmaxsan ");

}
¥
}
void CBJverl100DIg::0OnBhit()
{
// TODO
//:::::::::::::::::::::::::::::::::::::::::::

void insuit(), innumb(),padown();

pcard[pcardno] = yama[yamano];
insuit();innumb();

//
CDC* pDC=m_land1.GetDC();
CDC myDC;
myDC.CreateCompatibleDC(pDC);
CBitmap myPSUITO3;
if(psuit[pcardno] == 1){
myPSUITO3.LoadBitmap(I1DB_SSUITS) ;myDC.SelectObject(myPSUITO3);
pDC->BitBIt(22 + (65 * (pcardno - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[pcardno] =
myPSUITO3. LoadBltmap(IDB SSUITH) ;myDC.SelectObject(myPSUIT03);
pDC->BitBIt(22 + (55 * (pcardno - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[pcardno] =
myPSUITO3. LoadBltmap(IDB SSUITD) ;myDC.SelectObject(myPSUITO3);
pDC->Bi1tBIt(22 + (55 * (pcardno - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[pcardno] ==
myPSUITO3.LoadBitmap(IDB_SSUITC) ;myDC.SelectObject(myPSUITO3);
pDC->BitBIt(22 + (55 * (pcardno - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
if(psuit[pcardno] 1= 1 && psuit[pcardno] !'= 2 && psuit[pcardno] '= 3 && ps
uit[pcardno] !=
myPSUIT03 LoadBitmap(IDB_RCARD) ;myDC.SelectObject(myPSUIT03);
pDC->Bi1tBIt(22 + (55 * (pcardno - 1)),205,48,68,&myDC,0,0,SRCCOPY);}
//
CBitmap myPNUMBO3;
if(pnumb[pcardno] ==
myPNUMBO3.LoadBitmap(1DB_SNUMBA) ;myDC.SelectObject(myPNUMBO3);
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[pcardno] =
myPNUMBO3. LoadBltmap(IDB SNUMB2) ;myDC.SelectObject(myPNUMBO3) ;
pDC->BitBIt(22 + (65 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
i1f(pnumb[pcardno] =
myPNUMBO3. LoadBltmap(IDB SNUMB3) ;myDC.SelectObject(myPNUMB03);
pDC->BitBIt(22 + (65 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[pcardno] =
myPNUMBO3. LoadBltmap(IDB SNUMB4) ;myDC.SelectObject(myPNUMB03) ;
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
i1f(pnumb[pcardno] =
myPNUMBO3. LoadBltmap(IDB SNUMB5) ;myDC.SelectObject(myPNUMBO3) ;
pDC->BitBIt(22 + (65 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[pcardno] ==
myPNUMBO3.LoadBitmap(1DB_SNUMB6) ;myDC.SelectObject(myPNUMBO3) ;
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[pcardno] ==
myPNUMBO3. LoadBitmap(1DB_SNUMB7) ;myDC.SelectObject(myPNUMBO3);
pDC->BitBIt(22 + (65 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
i1f(pnumb[pcardno] == 8){
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¥

myPNUMBO3. LoadBitmap(1DB_SNUMB8) ;myDC.SelectObject(myPNUMBO3);
pDC->BitBIt(22 + (65 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
i1f(pnumb[pcardno] =
myPNUMBO3. LoadBltmap(IDB SNUMB9) ;myDC.SelectObject(myPNUMBO3) ;
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
iT(pnumb[pcardno] =
myPNUMBO3. LoadBltmap(IDB SNUMB10) ;myDC.SelectObject(myPNUMBO3);
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23 &myDC,0,0,SRCCOPY) }
if(pnumb[pcardno] =
myPNUMBOB.LoadBitmap(IDB_SNUMBJ);myDC.SelectObject(myPNUMBOS);
pDC->BitBIt(22 + (65 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[pcardno] == 12){
myPNUMBO3. LoadBitmap(1DB_SNUMBQ) ;myDC. SelectObject(myPNUMBO3);
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
if(pnumb[pcardno] == 13){
myPNUMBO3.LoadBitmap(1DB_SNUMBK) ;myDC.SelectObject(myPNUMBO3) ;
pDC->BitBIt(22 + (55 * (pcardno - 1)),228,48,23,&myDC,0,0,SRCCOPY);}
++pcardno;++yamano;
//-————
pmaxsan();
1f(pnumb[0] > 21){padown();} // pmaxsan

char mmaaxx[50]; //c
sprintf(mmaaxx," = %d",pnumb[0]); //c
m_edl.SetWindowText(mmaaxx); //c

1T(pnumb[0] >= 22){
AfxMessageBox (" ");
CDialog::0n0K();

void padown(){ //============—=—=—==-=-=-=-========

¥

void pmaxsan();
int co01;

for(co0l1 = 1;pnumb[0] > 21;++co01){
i1f(pnumb[co01] == 0){
break;}
if(pnumb[co01] == 1){
pnumb[co01] = 14;}
pmaxsan();

VOid Cadown(){ //:::::::::::::::::::::::::::

void cmaxsan();
int co0l;

for(co01 = 1;cnumb[0] > 21;++co01){
1f(cnumb[co01] == 0){
break;}
if(cnumb[co01] == 1){
cnumb[co01] = 14;}
cmaxsan();
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void CBJverl100DIg: :OnBstand()

{

CDC* pDC=m_landl1.GetDC();

CDC myDC;

myDC.CreateCompatibleDC(pDC);

//

CBitmap myCSUITOL;

if(csuit][l] ==
myCSUITO1.LoadBitmap(IDB_SSUITS) ;myDC.SelectObject(myCSUITO1);
pDC->BitBIt(90,55,48,68,&myDC,0,0,SRCCOPY);}

if(csuit[l] ==
myCSUITO1.LoadBitmap(1DB_SSUITH) ;myDC.SelectObject(myCSUITO01);
pDC—>BitBIt(90,55,48,68,&myDC,0,0,SRCCOPY);}

if(csuit[l] =
myCSUITOl LoadBitmap(IDB_SSUITD) ;myDC.SelectObject(myCSUITO1);
pDC- >B|tBIt(9O 55,48,68,&myDC,0,0,SRCCOPY);}

if(csuit[l] =
myCSUITOl LoadBitmap(IDB_SSUITC) ;myDC.SelectObject(myCSUITO1);
pDC->Bi1tB1t(90,55,48,68,&myDC,0,0,SRCCOPY);}

//

CBitmap myCNUMBO1;

if(cnumb[1] == 1){
myCNUMBO1 . LoadBitmap(1DB_SNUMBA) ;myDC.SelectObject(myCNUMBO1);
pDC->BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] ==
myCNUMBO1.LoadBitmap(1DB_SNUMB2) ;myDC.SelectObject(myCNUMBO1);
pDC->BitB1t(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] ==
myCNUMBO1 . LoadBitmap(1DB_SNUMB3) ;myDC.SelectObject(myCNUMBO1);
pDC—>BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] =
myCNUMBOl LoadBitmap(1DB_SNUMB4) ;myDC.SelectObject(myCNUMBO1);
pDC- >B|tBIt(90 78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] =
myCNUMBOl LoadBitmap(1DB_SNUMB5) ;myDC.SelectObject(myCNUMBO1);
pDC- >B|tBIt(9O 78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] =
myCNUMBOl LoadBitmap(1DB_SNUMB6) ;myDC.SelectObject(myCNUMBO1);
pDC- >B|tBIt(90 78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] =
myCNUMBOl.LoadBitmap(IDB_SNUMB?);myDC.SelectObject(myCNUMBOl);
pDC->BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] ==
myCNUMBO1 . LoadBitmap(1DB_SNUMB8) ;myDC.SelectObject(myCNUMBO1);
pDC->BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] ==
myCNUMBO1 . LoadBitmap(1DB_SNUMB9) ;myDC.SelectObject(myCNUMBO1);
pDC->BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] ==
myCNUMBO1 . LoadBitmap(1DB_SNUMB10) ;myDC.SelectObject(myCNUMBO1)
pDC->BitB1t(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] ==
myCNUMBO1 . LoadBitmap(1DB_SNUMBJ) ;myDC.SelectObject(myCNUMBO1);
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pDC—>BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] =
myCNUMBOl LoadBltmap(IDB SNUMBQ) ;myDC.SelectObject(myCNUMBO1);
pDC- >B|tBIt(9O 78,48,23,&myDC,0,0,SRCCOPY);}

if(cnumb[1] =
myCNUMBOl.LoadBitmap(IDB_SNUMBK);myDC.SelectObject(myCNUMBOl);
pDC->BitBIt(90,78,48,23,&myDC,0,0,SRCCOPY);}

cisi = 1;
for(;cist == 1;){
//

thinkran();
cthink(); // pmaxsan,cmaxsan

PY):}

PY):}

PY):}

PY):}

if(cisi == 1){

ccard[ccardno] = yama[yamano];
insuitt();innumb();

//

CDC* pDC=m_land1.GetDC();

CDC myDC;

myDC.CreateCompatibleDC(pDC);

CBitmap myCSUITO3;

if(psuit[ccardno] ==
myCSUITO3.LoadBitmap(1DB_SSUITS) ;myDC.SelectObject(myCSUITO3);
pDC->B1tBIt(90 + (55 * (ccardno - 1)),55,48,68,&myDC,0,0,SRCCO

if(psuit[ccardno] ==
myCSUITO3.LoadBitmap(I1DB_SSUITH) ;myDC.SelectObject(myCSUITO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),55,48,68,&myDC,0,0,SRCCO

if(psuit[ccardno] =
myCSUITO3. LoadBltmap(IDB SSUITD) ;myDC.SelectObject(myCSUITO3);
pDC->B1tBIt(90 + (55 * (ccardno - 1)),55,48,68,&myDC,0,0,SRCCO

if(psuit[ccardno] = {
myCSUITO3. LoadBltmap(IDB SSUITC) ;myDC.SelectObject(myCSUITO03);
pDC->BitBIt(90 + (55 * (ccardno - 1)),55,48,68,&myDC,0,0,SRCCO

if(psuit[ccardno] != 1 && psuit[ccardno] !'= 2 && psuit[ccardno] !=

3 && psuitfccardno] =0

PY);}

PY):}

PY);}

PY):}

myCSUITO3.LoadBitmap(1DB_RCARD) ;myDC.SelectObject(myCSUITO03);
pDC->BitBIt(90 + (55 * (ccardno - 1)),55,48,68,&myDC,0,0,SRCCO

//

CBitmap myCNUMBO3;

if(cnumb[ccardno] ==
myCNUMBO3. LoadBitmap(1DB_SNUMBA) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] == 2){
myCNUMBO3.LoadBitmap(1DB_SNUMB2) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] ==

myCNUMBO3. LoadBitmap(1DB_SNUMB3) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO
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PY):}

PY):}

PY):}

PY):}

PY):}

PY):}

PY);}

PY):}

PY);}

PY):}

if(cnumb[ccardno] ==
myCNUMBO3.LoadBitmap(1DB_SNUMB4) ;myDC.SelectObject(myCNUMBO3);
pDC->B1tBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] ==
myCNUMBO3.LoadBitmap(1DB_SNUMB5) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] =
myCNUMBO3. LoadBltmap(IDB SNUMBG6) ;myDC.SelectObject(myCNUMBO3) ;
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] = {
myCNUMBO3. LoadBltmap(IDB SNUMB7) ;myDC.SelectObject(myCNUMB03) ;
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] == 8)
myCNUMBO3. LoadBltmap(IDB SNUMB8) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] ==
myCNUMBO3.LoadBitmap(1DB_SNUMB9) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] == 10){
myCNUMBO3. LoadBitmap(1DB_SNUMB10) ;myDC.SelectObject(myCNUMBO3)

pDC->Bi1tBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] == 11){
myCNUMBO3. LoadBltmap(IDB SNUMBJ) ;myDC.SelectObject(myCNUMB03) ;
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] == 12){
myCNUMBO3. LoadBltmap(IDB SNUMBQ) ;myDC.SelectObject(myCNUMBO3) ;
pDC->BitBIt(90 + (65 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

if(cnumb[ccardno] == 13){
myCNUMBO3.LoadBitmap(1DB_SNUMBK) ;myDC.SelectObject(myCNUMBO3);
pDC->BitBIt(90 + (55 * (ccardno - 1)),78,48,23,&myDC,0,0,SRCCO

++ccardno;++yamano;

cmaxsan();
i1f(cnumb[0] > 21){cadown();} // cmaxsan

char cmmaaxx[50]; //c
sprintf(cmmaaxx, " = %d",cnumb[0]); //c
m_ed3.SetWindowText(cmmaaxx); //c

1f(cnumb[0] >= 22){

AfxMessageBox (" ");
cisi = 2;
CDialog::0n0K();



//
pmaxsan() ;cmaxsan();
if(cisi == 0){
if(pnumb[0] > cnumb[0]){
AfxMessageBox (™ ")}
1T(pnumb[0] == cnumb[0]){
AfxMessageBox (™ "):}
if(pnumb[0] < cnumb[0]){
AfxMessageBox (" "):}

; %Dialog::OnOK();

void Cthink(){ //===—====—=—=—==—=————=——-=-=—-=——====
void pmaxsan(),cmaxsan();
int sa,coa;

cisi = 0;
pmaxsan() ;cmaxsan() ;
sa = 21 - cnumb[O];

|f((ckette|[ccardno - 3] <— 0 11 (ckettel[ccardno - 3] >= 101)){
AfxMessageBox("!! ! ");

%f(cnumb[O] > pnumb[O0]){cisi
if(cnumb[0] < pnumb[O]){C|S|
if(cnumb[0] = pnumb[O]){
iIf(sa == ){ l
if(ckettel[ccardno - 3] <= 2){cisi
if(sa == 2){
if(ckettei[ccardno - 3] <= 3){cisi = 1;}}
1f(sa == 3){
if(ckettei[ccardno - 3] <= 5){cisi = 1;}}
iIf(sa == 4){
if(ckettei[ccardno - 3] <= 10){cisi = 1;}}
if(sa == 5){
if(ckettei[ccardno - 3] <= 20){cisi = 1;}}
if(sa == 6){
if(ckettei[ccardno - 3] <= 50){cisi = 1;}}
1f(sa == 7){
if(ckettei[ccardno - 3] <= 70){cisi = 1;}}
1;}}
1;}}
1;}}

1;}}

1f(sa == 8){

if(ckettei[ccardno - 3] <= 85){cisi
if(sa == 9){

if(ckettei[ccardno - 3] <= 93){cisi
if(sa == 10){

if(ckettei[ccardno - 3] <= 98){cisi
1f(sa >= 11){

cisi = 1;}

¥
¥

void thinkran(){ [ /====================—===
int rand();
int ranmax = 100,ranmin = 1;
int co01;
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srand((unsigned int)time(0));
rand();
for(co0l1 = 0;co01 < (havemax - 1);++co01){

ckettei[co01] = ranmin + (int)(rand() * (ranmax - ranmin + 1) / (1 + R
AND_MAX));

}

16



